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Grade 11 Math HL 
            Worksheet 1 – Sequence & Series       6/9/10

1 In an arithmetic sequence the second term is 7 and the sum of the first five                      terms is 50. Find the common difference of this arithmetic sequence.

2 The sum to infinity of a geometric series is 32. The sum of the first four terms                              is 30 and all the terms are positive. Find the difference between the sum to                       infinity and the sum of the first eight terms.






3 Find the value of 
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4 Show that sum of the first ‘
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’ positive odd natural numbers is 
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5 Consider the arithmetic series − 6 + 1 + 8 + 15 + … . Find the least number of                     terms so that the sum of the series is greater than 10 000.




6 The first term of a geometric series is 5 and the common ratio is 1.2. Find for                      this series











(a) the 16th term, giving your answer to the nearest integer

(b) the sum of the first 30 terms, giving your answer to the nearest integer.

(c) Give a reason why this series has no sum to infinity.

7 The first three terms of a geometric series are 1, p and q. Given also that                     10, q and p are the first three terms of an arithmetic series, show that                 
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                                                                                            Hence find the possible values of p and q.






8 The sum of the first n terms of a series is given by 
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an expression for the rth term of the series.





9 Find the sum of all the integers between 200 and 500 which are divisible by 7.


10 A savings scheme pays 5% per annum compound interest. A deposit of £100                         is invested in this scheme at the start of each year.






(a) Show that at the start of the third year, after the annual deposit has been                          made, the amount in the scheme is £315.25

(b) Find the amount in the scheme at the start of the fortieth year, after the                         annual deposit has been made.

11 If 
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 are the three successive terms of a G.P, calculate the possible values of x, and the corresponding values of the common ratio.





12 The sum of three successive terms of a geometric sequence is 
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 while their product is 125. Find the three terms.
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